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. How does Mr. Wang go to work now?

>

. By bike. B. By car. C. On foot.

2. How old is the girl?

A. 3. B. 13. C. 30.

3. How often does Kathy play badminton?

A. Once a week. B. Twice a week. C. Every day.

4. How will the two speakers probably go to the cinema?

A. On foot. B. By taxi. C. By underground.

5. Why does the boy go to Thailand?

o

A. To have a trip. B. To study. To visit a friend.
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. What is Peter doing now?
. He is talking on the phone. B. He is writing an e-mail.
. How’s the weather in Australia now?

. Cold and windy. B. Hot and sunny.
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. Where are the two speakers?
. In the English club. B. In the classroom.
. What does the man think can help to learn English?

. Watching English movies. B. Listening to some tapes.

How many things does the man do to learn English?
Two. B. Three.
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Why did Jenny go to Africa?

. To work as a teacher. B. To spend her holiday.

What is Sarah like now?

. Thinner and more beautiful. B. Thinner and healthier.

How does the man probably think of Jenny?

. Lovely. B. Clever.
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What’s the woman doing?

. Working in a shop. B. Visiting her uncle.

What time is it now?

. 11:00 a.m. B. 14:00 p.m.

Which statement is true according to the conversation?

. Tom will finally drive to the festival alone.

. Rachel doesn’t go to the festival at last.

There are some good events in the festival.
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What does John say about the two families?

C. He is on holiday.

. Cool and rainy

. In the theatre.

. Keeping a diary in English.

. Four

. To offer medical help.

. Thinner and stronger.

. Brave.

. Making a video story.

. 15:00 p.m.



